11 - 2
5
2
1 72-3169
| | [a0] | [1] | [2 | |
]
(] ] ] (]
] 3
R 8
- 1,727
E—
—
H H H
9777 8412 8013 8,452
) 9,777 8412 8013 8,452
0.10 0.10 0.10
829 897 887
B) 829 897 887
A)+(B) 10,606 9,300 9,800
9 8 8 8
9 3 8
100.0 100.0 100.0

- 16 -



1828 1831 1727 1,706
1828 1831 1727
100.0 100.0 100.0
2| | 2
31 | 2
2| | 2
1 14

o o sle -

2

]

- 17 -




11 - 7
5
2
3 72-3169
2
10 3 1
UJ
L] L] L]
L] 4
- 22
- 5,118
=D
—
H H H
30,765 36,399 39,093 44,753
A) 30,765 36,399 39,003 44,753
0.20 0.20 0.20
1,657 1,794 1,773
B) 1,657 1,794 1,773l
A)+(B) 32,422 38,193 40,866
1 5 4 1
1 5 4
100.0 100.0 100.0
1 2 1 1
1 2 1
100.0 100.0 100.0

- 18 -




3.6

12

7.7

8.7

LAN

21

Do

1 2|3 415 6

- 19 -



11 - 11
5
2
3 72-3169
2
10 3 1
UJ U]
L] L] L]
L]
- 14
- 8
=D
—]
H H H
8,405 7,308 9,326 3,800
A) 8,405 7,308 9,326 3,800
0.35 0.35 0.35
2,900 3,140 3,103
B) 2,900 3,140 3,103l
A)+(B) 11,305 10,448 12,429
5 7 4 2
5 7 4
100.0 100.0 100.0

- 20 -



10412]  7599]  11.100] 3800
8405 7308]  9.3%6
80.7 96.2 84.0
2| | 2
2| | 2
1] [ 2
1 12

o o sle -

2

]

- 21 -




11 - 15

5
2
7 72-3169
I | [10] [ [1] | [4 I I
O] L] L]
L]
N 381
=
—>
H H H H
5,239 4,953 4,948 4,953
A) 5,239 4,953 4,948 4,953
0.05 0.05 0.15
414 449 1,330
|
B) 414 449 1,330||
A)+(B) 5,653 5,402 6,278
2 2 1

- 22 -



12

14

31

30

Do

1 2|3 4]5 6

- 23 -



11 - 16

5
2
7 72-3169
| | [19] | 1] | 14 | |
(] [] L]
[]
E—
—>
H H H H
1,908 1,699 1,785 2,155
A) 1,908 1,699 1,785 2,155
0.05 0.05 0.05
414 449 443
i
B) 414 449 443
A)+(B) 2,322 2,148 2,228
2 2 2
16 16 16

- 24 -



12

67

386

57

485

44

454

Do

- 25 -



11 - 17
5
2
7 72-3169
I | [19] [ [a] | 14 I I
] [] L]
[] 19
=
—
H H H H
344 88 550
A) 344 88 550
0.05 0.05
449 443
i
B) 449 443)
A)+(B) 793 531|
2 2

- 26 -



12

76

43

19

Do

1 2|3 4]5 6

- 27 -



[12 - 3
5
6
5 72-3169
I [ [10] [ [1] | [4 I I
(] L] []
L] 2
E—
—
H H H H
300 510 90 600
A) 300 510 90 600
0.20 0.20 0.20
1,657 1,794 1,773
|
B) 1,657 1,794 1,773l
A)+(B) 1,957 2,304 1,863
0 1 0 1
0 1 0
100.0
1 0 1
1 0 1
100.0 100.0

- 28 -




25 25
22
88.0
25 25
25 24
100.0 96.0
2| | 2
2| | 2
1] [ 2
3 14

o ~lo ale -

)

Doood

- 29 -




11 - 1

5
2
1 72-3171
I [ [10 [ [1] | [4 I I
U]
(] L] L] []
L] 18
- 22
E—
—
SAT
H H H H
9,257 8,723 8,635 8,980
A) 9,257 8,723 8,635 8,980
1.05 1.05 1.05
8,699 9,420 9,308
|
B) 8,699 9,420 9,308]|
A)+(B) 17,956 18,143 17,943
67 61 43
1,112 1,109 963 834
SAT 998 857 809
89.7 77.3 84.0
134 130 66 63
134 130 66
100.0 100.0 100.0

- 30 -



8.204 8.168 7.032 7,952
4,304 6,089  12.907
51.9 745 162.7
60 60 60 60
SAT 54 76 50
90.0 76.7 83.3
2| [ 2
2| [ 2
2 [ 2
2 14
SAT

SAT

o o sle e

2

]

- 31 -




|5 - 4
5
1
2
| | [0] | [5] | [1 | |
(]
hGE 0O O O
[]
. 60000
=
—
H H H H
3,668 1,798 1,744 1,775
A) 3,668 1,798 1,744 1775
0.20 0.20 0.10
1,657 1,79 887
B) 1,657 1,794 887
A)+(B) 5325 3,502 2,631
76 72 60 60
62 62 64
81.6 86.1 106.7
2 2 1 1
2 2 1
100.0 100.0 100.0
#DIV/0!l  #DIV/0!| #DIV/0!

- 32 -




62 62 64 64

30 46 39

484 74.2 60.9

1,407 1,423 1,025

#VALUE!| #VALUE![ #VALUE!
30 30 30 30

33 33 33

1100 1100 1100
1] | 2
2| | 2
20| 2
2 13

o ~lo ale -

[

- 33 -




4
1
| [0] | [5] | [4 | |
O]
GG 0O O O
(]
- 60,000
E—
—
19
H H H
1,190 952 952 952
A) 1,190 952 952 952
0.40 0.40 0.45
3314 3,588 3,080
i
B) 3314 3,588 3,089
A)+(B) 4504 4,540 4.941]
8 8 8 8
8 8 8
100.0 100.0 100.0
5 5 5 5
5 5 5
100.0 100.0 100.0
#DIV/0!l  #DIV/0!| #DIV/0!

- 34 -




6,193

5502 5584 6,103
#VALUE!| #VALUE![ #VALUE!
171
177 188 171
#VALUE!| #VALUE![ #VALUE!
#DIV/0l| #DIV/0] #DIV/0!
1] | 2
2| | 1
20| 2
1 11

o ~lo ale -

[

- 35 -



- 2
5
4
1
| [0] | [5] | [4 | |
(]
GG 0O O O
[] 13
. 1
- 60000
E—
—
13
H H H H
850 718 308 808
A) 850 718 308 808
0.05 0.05 0.05
414 449 443
i
B) 414 449 443)|
A)+(B) 1,064 1,167 1,251])
13
7 11 13
#VALUE!| #VALUE![ #VALUE!
#DIV/0![ #DIV/0![ #DIV/0!
#DIV/0!l  #DIV/0!| #DIV/0!

- 36 -




146

134 125 146

#VALUE!| #VALUE![ #VALUE!
2,960

2916 2,960 6510

#VALUE!| #VALUE![ #VALUE!

#DIV/0l| #DIV/0] #DIV/0!
1] | 2
20 | 2
20| 2
1 12

o ~lo ale -

[

- 37 -



4
1
| [0] | [5] | [4 | |
|
o 0 O O
[] 9
- 60000
E—
—
1/2 500,000
H H H
650 500 500 500
A) 650 500 500 500
0.10 0.03 0.03
829 269 266
B) 829 269 266
A)+(B) 1479 769 766
650 500 500 500
893 1,030 910
137.4 206.0 182.0
4
4 3 4
#VALUE!| #VALUE!| #VALUE!
#DIV/0!l  #DIV/0!| #DIV/0!

- 38 -



845 407 3,080
#VALUE!| #VALUE![ #VALUE!
4
3 2 4
#VALUE!| #VALUE!| #VALUE!
#DIV/0!]  #DIV/0! #DIV/0!
11 | 2
11 | 2
1] 1
1 9

o ~lo ale -

[

- 39 -




- 4
5
4
3
| [10] | [s5] | [10 I I
UJ
NG 0O O O
L] 16
=D
—
H H H H
0 0 0 0
0 0 0 0
A) 0 0 0 0
1.50 1.50 1.50
12,428 13,457 13,298
|
B) 12,428 13,457 13,298||
A)+(B) 12,428 13,457 13,298]|
50 50 50 50
45 69 34
90.0 138.0 68.0
#DIV/0!| #DIV/0!| #DIV/0!
#DIV/0!|  #DIV/0!| #DIV/0!

- 40 -




3 3 3 3
2 3 3
66.7| 1000 | 1000
#DIV/0I| _#DIV/0I| _#DIV/O!
#DIV/0I _#DIV/0l| #DIV/0!
14 [ 3
14 | 1
10 2
1 10

© =~wlo ale -

[

- 41 -




- 5
5
4
3
| [10] | [s5] | [10 I I
L] t:
L] L] L] L]
L] 16
- 60000
E—
—
H H H H
482 650 616 900
4,780 2,775 2,782 3,130
A) 5,262 3,425 3,398 4,030
2.00 2.00 2.00
16,570 17,942 17,730
|
B) 16,570 17,942 17,730||
A)+(B) 21,832 21,367 21,128]|
30 30 30
24 23 28
80.0 76.7 93.3
4 4 4
4 3 4
100.0 75.0 100.0
#DIV/0!|  #DIV/0!| #DIV/0!

- 42 -




4,000 4,000 4,000 4,000

3,658 3747 3,065

915 937 76.6

#DIV/0[ _#DIV/0!| _#DIV/0!

#DIV/0] #DIV/0I #DIV/O!
1) 2
1) 1
10 1
1 8

o ~lo ale -

[

- 43 -



4
3
| [10] | [s5] | [7 I I
UJ
NG 0 0O
L] 16
- 6000
- 11000
=D
—
900
150,000 1,000
H H H H
500 500 500
4,821
0 399 383 360
A) 4,821 899 883 860
0.50 0.50 0.50
4,143 4,486 4,433
|
B) 4,143 4,486 4,433||
A)+(B) 8,964 5,385 5,316||
300 400 200 400
300 400 200
100.0 100.0 100.0
#DIV/0!| #DIV/Q!| #DIV/0!
#DIV/0!|  #DIV/0!| #DIV/0!

- 44




0

0

0
#VALUE!

#VALUE!| #VALUE!
#DIV/0![ _#DIV/0l| _#DIV/O!
#DIV/0l| #DIV/0] #DIV/0!
2| | 1
20 | 1
14| 2
1 10

© =~wlo ale -

1:

[

- 45 -




4
3
| [10] | [s5] | [10 I I
UJ
NG 0 0O
L] 17
- 60000
E—
—
H H H H
189 56 500
A) 189 56 500
0.20 0.20 0.20
1,657 1,794 1,773
|
B) 1,657 1,794 1,773
A)+(B) 1,657 1,983 1,829
416 416 416 450
416 416 416
100.0 100.0 100.0
158 158 158 158
158 158 158
100.0 100.0 100.0
#DIV/0!|  #DIV/0!| #DIV/0!

- 46 -




1,000 1,000 1,000 400
1,034 1,209 302
1034 120.9 30.2
#DIV/0Q!] #DIV/Q!| #DIV/0!
#DIV/0!]  #DIV/0! #DIV/0!
2| I 2
2| | 1
20 | 2
1 12
PR

© o sle -

VA

HNOOOO

- 47 -




4
3
| | [0] | [5] | |1 | |
[] t:
] ] (] []
(]
- 60,000
E—
—
300 10
H H H
387 278 248 390
715 1,207 994 848
A) 1,102 1,485 1242 1238
0.10 0.10 0.10
829 897 887
B) 829 897 887 31.50%
A)+(B) 1,031 2382 2,129
8,000 8,000 8,000 8,000
8,000 8,000 8,000
100.0 100.0 100.0
158 158 158 158
158 158 158
100.0 100.0 100.0
#DIV/0!l  #DIV/0!| #DIV/0!

- 48 -




1,500 1,500 1,200 1,200
1,535 1,153 1,042
102.3 76.9 86.8
#DIV/0]| _#DIV/0!| _#DIV/O!
#DIV/0l| #DIV/0] #DIV/0!
1 | 2
2| | 2
21 | 1
1 11

o o sle -

1:

VA

0

- 49 -



|5 - 8
5
1
2 74 2249
I | ]19 [ [5] | [5 I I
L] t:
(] [] [ ] L]
[] 62
- 60,000
=
—
21 4
H H H H
193 262 150 300
564 600 499 587
A) 757 862 649 887
3.30 3.30 2.50
27,341 29,604 22,163
|
B) 27,341 29,604 22,163 34
A)+(B) 28,098 30,466 22,812)|
100 100 100 100
103 118 95
103.0 118.0 95.0
1,030 1,246 928 1,000
1,181 1,391 921
114.7 111.6 99.2
#DIV/0!]  #DIV/0!| #DIV/0!

- 50 -




2,845 3,146 2,466 2500
2,562 2,856 2,116
90.1 90.8 85.8
#DIV/0I| _#DIV/0I| #DIV/0!
#DIV/0!| #DIV/0!| #DIV/0!
2| | 2
31 I 1
2| | 2
1 13

© o ale -

Doood

- 51 -




[11 - 5
5
2
2
I [ [10] [ [1] | [6 I I
U] ‘I::
] L] L] L]
[] 16
- 5,077
- 22
=D
(—
1
H H H H
15,147 14,858 17,917 20,969
A) 15,147 14,858 17917 20,969
1.00 1.00 1.50)
8,285 8,971 13,298||
|
B) 8,285 8,971 13,298
A)+(B) 23,432 23,829 31,215
7 7 7 7
TA 7 7 7
100.0 100.0 100.0
22 22
4
18.2
22 22 22 22
10 12 13
455 54.5 59.1

- 52 -




10

67

129

47

113

46

64

46

TA

OO0

- 53 -



11 - 14

5
2
4 72-3174
I | [a0] | [5] HE I I
[] —[:
(] [] [] []
[] 13
R 60
—|
—>
H H H H
1,100 900 855 1,096
4,088 3,969 5720 6,009
A) 5188 4,869 6,575 7,105
0.60 0.70 0.40)
4971 6,280 3546
B) 4971 6,280 3,546
A)+(B) 10,159 11,149 10,121
30 30 30 30
14 8 12
46.7 26.7 40.0
242 239 239 236
242 239 239
100.0 100.0 100.0

- 54 -




40 40 40 40
19 29 28
475 725 70.0
2 | 2
31 | 2
20 | 2
1 14

o o sle -

2

1:

VA

]

- 55 -




11 - 13

5
2
4 72-3174
I | [10] [ [1] | [4 I I
L] t:
O] L] L]
L] 7
N 7,000
=
—>
SC
H H H H
350 1,337 987
1,016 1,325 1,657 2,645
A) 1,366 2,662 2,644 2,645
0.35 0.43 0.25
2,900 3,858 2,216
B) 2,900 3,858 2,216
A)+(B) 4,266 6,520 4,860
35 35 35 35
35 35 33
100.0 100.0 94.3

- 56 -




1,000 1,000 1,000 1,000
1663 1613 644
166.3 161.3 64.4
2| | 2
1] [ 2
1] [ 2
1 11

o o sle -

2

]

- 57 -




5
1
| | [0] | [5] HE | |
|
o 0 O O
[] 12
. 6
—
—
H H H H
350 370 370 370
A) 350 370 370 370
152 152 1.80
12,593 13,636 15,057
B) 12,593 13,636 15,057
A)+(B) 12,043 14,006 16,327
5 7 7
#VALUE!| #VALUE![ #VALUE!
4 4 7
#VALUE!| #VALUE!| #VALUE!
27 15 5
#VALUE!l #VALUE![ #VALUE!

- B8 -



150 200 150 200
163 278 400
1087 | 1390 | 2667
6,000 4,000 4,000 4,000
. . ) . 6,408 4,239 5,301
188 ez 202 e 1068 | 106.0 1325
39,890 43,081 46,096 48,862
40,071 33,202 36,954
1005 771 80.
11 | 2
2| | 1
21 [ 2
1 11

© =~wlo ale -

[

- 59 -



|5 - 9
5
1
I | [a0] | [5] HE I I
] t
] [] [] []
[] 12
- 6
m—
—>
/7 7/ /
12 10
(
H H H H
100,439 90,636 89,465 90,178
A) 100,439 90,636 89,465 90,178
276 2.76 458
22,867 24,760 40,602
B) 22,867 24,760 40,602
A)+(B) 123,306 115,396 130,067
17,981 12,021 11,380
#VALUE!| #VALUE!| #VALUE!
276 276 289 284
276 276 289
100.0 100.0 100.0

- 60 -




676,757 661,603 634,097
#VALUE!| #VALUE![ #VALUE!
39890  43081]  46,096] 48862
40,071 33,202 36,954
1005 771 80.2
297,318 284,482 293,666
#VALUEI| #VALUE!| #VALUE!
1] [ 2
2| | 1
20| 2
1 11

o o sl -

1:

VA

21

0

- 61 -



|5 - 10

5
1
| | [0] | [5] HE | |
|
o 0 O O
L] 18
—
—>
10
700 2009 5 31
H H H H
1,310 1,168 1,059 1,059
A) 1,310 1,168 1,059 1,059
0.68 0.68 0.60
5 634 6,100 5301
B) 5634 6,100 5301
A)+(B) 6,044 7,268 6,360
530 431 479
473 396 428
89.2 91.9 89.4
71 64 89
#VALUE!| #VALUE!| #VALUE!
1 1 1 2
T 1 1
100.0 100.0 100.0

- 62 -




174,794 173,460 171,412

#VALUE!| #VALUE![ #VALUE!

1,220 920 1,100

#VALUE!| #VALUE![ #VALUE!

#DIV/0l| #DIV/0] #DIV/0!
2 | 2
2| | 1
20 | 2
1 12

o o sle -

0

- 63 -




[11 - 8
5
2
3 72-3172
I [ [10] [ [1] | [4 I I
U]
(] L] L] L]
L] 15
- 386
=D
—
H H H H
100 100 100 100
A) 100 100 100 100
0.30 0.30 0.30
2,486 2,691 2,660
|
B) 2,486 2,691 2,660|
A)+(B) 2,586 2,791 2,760]|
10 10 10 10
7 10 13
70.0 100.0 130.0

- 64 -



450 560 545 500
357 470 412
79.3 83.9 75.6
80 80 80 80
47 74 71
58.8 925 88.8
80 80 80
70 92
875 1150
2| | 2
2 | 2
1| 2
1 12

o o sle -

2

]

- 65 -




